
Unit 18 – Assignment 3 – P5 
 

Worksheets: 
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Short wings and grey body = (116/16) x 3 = 22 

Short wings and black body = (116/16) x 1 = 7 

 

 Observed Expected (O-
E) 

(O-E)2 (O-E)2/E 

Long wings and grey body 64 65 -1 1 0.015 

Long wings and black body 25 22 3 9 0.41 
Short wings and grey body 22 22 0 0 0 

Short wings and black body 5 7 -2 4 0.57 

     Total = 0.995 

P value = 0.995 

Degrees of freedom = 4 - 1 = 3 

http://slideplayer.com/slide/256718/  

 

When I compare my p value to the table, I identified there to be 3 degrees of freedom. As the P 

value would need to be 7.82 or higher for the hypothesis to be rejected, and my P value was 0.995, I 

can therefore accept the hypothesis and reject the null hypothesis. The bigger the sample is, the 

more valid it would be.  

By observing my results, I can say that my experiment may not have been 100% accurate, even 

though chi squared was accepted. This is due to many errors that could have occurred during the 

final observation of the fruit flies. One example of an error is, when counting the flies, it was hard to 
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